Centripetal Force


1. Sue is on a Ferris Wheel of radius 6 m and it makes 1 rev in 8 sec.  Sue’s mass is 50 kg.
a. Find the net force on her seat at the bottom of the loop.

b. Find the net force on her seat at the top of the loop.

c. How many g’s does Sue feel at the bottom?
2. A 60 kg skateboarder with super  wheels ( = 1.1) is going 10 m/s. 
a. What is the radius of the tightest turn he can make before skidding out?

b. If he continues to move in a circle, how many revolutions will he make in 10 sec?

3. A 7.5 kg bowling ball is held by a string of radius 2 m with a breaking strength of 100 N.  How fast can the ball move before the string breaks?
4. A turntable, r=30 cm, is making 4 rev/sec.
a. Find the speed of a point on the outer edge.
b. Find  in rad/sec

5. An astronaut is being tested for his ability to withstand high g-forces by being spun in a horizontal circle of radius 4 m.  He passed out at 8.7g’s. 
a. What was the horizontal force on his 80 kg body?

b. How many revolutions per second was he making at this time?
